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Equation page 40, line 46
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Equations page 43, lines 39 to 43

ξ = nb i( )i=1

2∑
η = nb i( )rc i( )i=1

2∑
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Equation page 44, line 48

G x( ) = g i( )xi
i=0

pc

∑
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Equation page 46, line 53

b k −1− j[ ] = g k −1− j[ ]⊕b k − j[ ] ∀j ∈ 1, k −1[ ]



5

Equation page 48, line 48

 
Λ1,2

t (l)(x) = 1
2
x ⋅2

nb (i )⎡⎢ ⎤⎥
i=1

l−1

∑
⋅ 1+ j

2
⎛
⎝⎜

⎞
⎠⎟
rem 2nb (l ),2( )

∀x ∈!
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Equation page 49, line 7

Λ1
t (l)(x) = Λ1,2

t (l) Λ1,1
t (l)(x)( )
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Equation page 50, line 45

 
Λ2

t (x) = 2·mod x· 1− j( )rem 2ξ ,2( ) ,2 ξ⎡⎢ ⎤⎥( ) + 1+ j( )· 1− 2 ξ⎡⎢ ⎤⎥( ) ∀x ∈!, j = −1


